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QUESTION 1

Click the Exhibit button.

[edit policy-options]
user@R1# show
policy—-statement directZospf {
term 1 ({
from {
protocol direct;
route-filter 172.10.1.0/24 exact;

}
then accept:

}

[edit protocols]
userfrlé show

ospf {
export directZospf:;
area 0.0.0.1 {
interface ge-1/0/0.0;
}
}

[edit protocols]
user@rRz2# show
ospf {
area 0.0.0.0 {
interface ge-0/0/0.0;
interface ge-0/0/1.0;
interface 100.0;
I}

area 0.0.0.1 {
interface ge-1/0/0.0-:

}

Referring to the exhibit, which statement is correct?
A. R2is an ASBR

B. R1 is a backbone router

C.R2is an ABR

D. R1lis an ABR
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Correct Answer: C

QUESTION 2

You must establish an MPLS LSP between two locations. You are required to ensure that the LSP traverses specific
routers within the network.

Which solution is correct in this scenario?

A. Enable traffic engineering within RSVP and enable the Fast Reroute feature

B. Implement RSVP and define the explicit route the LSP must follow

C. Implement LDP and define the explicit route the LSP must follow

D. Enable traffic engineering within LDP and define the explicit route the LSP must follow

Correct Answer: B

QUESTION 3

Click the Exhibit button.
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[edit protocols bgpl]

user@router# show

group ibgp {
type intesrnal;
local-preference 100;
import byp-preference;
neighbor 10.1.1.1;
neighbor 10.2.2.2;
neighbor 10.3.3.3;

}

[edit policy-options]
user@router# show
policy-statement bgp-preference {

term 1 {
from neighbor 10.1.1.1;
then {
local-preference 130;
accept;
}
}
term 2 {
from neighbor 10.2.2.2;
then {
local-preference S0;
accept;

Referring to the exhibit, which statement is correct?

A. Routes from 10.1.1.1 are less preferred than the default local preference
B. Routes from 10.2.2.2 are less preferred than routes from 10.1.1.1

C. Routes from 10.3.3.3 are less preferred than the default local preference
D. Routes from 10.1.1.1 are less preferred than routes from 10.2.2.2

Correct Answer: B

QUESTION 4
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You want to make use of the nonstop active routing (NSR) feature. Which complementary feature must also be
enabled?

A. IP anycast

B. graceful restart

C. Virtual Router Redundancy Protocol
D. graceful Routing Engine switchover
Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/nsr-overview.html

QUESTION 5

The IPv6 Neighbor Discovery Protocol (NDP) performs the same function as which two IPv4 protocols? (Choose two.)
A. ICMP

B. ARP

C.DNS

D. DHCP

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/ipv6-neighbordiscovery.html#:~:text=N
eighbor%20discovery%20for%20IPv6%20replaces,Discovery%20protocol%20 (NDP)%20messages.
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